mathrm a'N

Rivet 3.1.10, = 2.8M events

13000 GeV pp Z+Jet
SgOOO = T T T T T ] T T 1 -
Q - .
% B Thrust A_2"(CMS jet substructure) 7
Booo [~ = S -
Dg | --O-- Herwig++ 2.7.1 default ]
= —~ —— Herwig++ 2.7.1 UE-EE-5 |
g 8-~ Herwig 7.2.1 default i
16000 — _
o — ]
E L i
£ [ ]
38000 |— -
ot I |
E - _
28000 — —
CG B —
£ i
z | ]
M000 — —
£ — ]
= - ]
g -
n L M | ] in | | | I_
2 £ E
%) - B
2 B —
O B ]
2 1
ke - |
© o |
h4
0.5 - ]
| . I . . | . I . I . I . I . |
0 0.5 1

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


